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Problem #1
Brayden bought a pack of Pokemon cards. There were 27 cards in the pack. Brayden wanted to share them with his two best friends who were coming over to play a game of Pokemon. Brayden wanted each boy to have an equal amount. How many cards will each boy have? Brayden figured out how many Pokemon cards to give to each boy dividing 27 (the number of cards he had) by three (the number of boys there were). Each boy will have 9 Pokemon cards to play the game.
Problem #2

Sydney had 5 girls coming to her slumber party. She wanted to make sure she popped enough popcorn for each girl to have 3 cups of popcorn. How many cups of popcorn will Sydney need to pop?
1. How are problems #1 and #2 similar or different?

a. They both use subtraction

b. They both use division.

c. Problem #1 uses division and problem #2 uses multiplication.

d. Problem #1 uses multiplication and problem #2 uses division.

2. How many cups of popcorn will Sydney need to pop for the slumber party?

a. 15 cups of popcorn

b. 18 cups of popcorn

c. 30 cups of popcorn

d. 24 cups of popcorn

Problem #3
Andrew had $12 and wanted to buy each of his 2 best friends some of the chocolate bars he was selling for Boy Scouts. Each of the candy bars cost $1. Andrew wanted each boy to have an equal amount of chocolate. Andrew figured out how many chocolate bars he could buy by dividing $12 by $1. Andrew was able to buy 12 chocolate bars. Andrew was able to give each friend 6 chocolate bars. Andrew was able to figure out how many chocolate bars to give each friend by dividing 12 by 2 (the number of chocolate bars bought and the number of friends to share with).
Problem#4
Hannah had $98 saved from doing chores around her house. Hannah wanted to share the money with her best friend equally. Hannah took Sydney to the mall with her to shop for new clothes. How much money will each girl have to spend on clothes?

1. How are these problems similar or different?

a. Both problems use division.
b. Both problems are two-step problems.
c. Both problems use division. However, problem #1 is a two-step problem and problem #2 is only a one-step problem.
d. Both problems are a one-step problem.

2. Solve Problem #4 and show your work.

3. How much money does each girl have to spend on clothes?

a. $47

b. $50

c. $40

d. $49

Problem #5 

Independently create your own word problem and write it down. Solve your word problem. Next, compare your word problem with your shoulder buddy’s word problem. How are they similar or different?

